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Capítulo 3 
Exercícios 3.1
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OBS: considerou-se o caso com orçamento limitado. Assim é como se a sobra de capital fosse um projeto independente aplicado à mesma taxa de juros de mercado usada para trazer os fluxos a valor presente. Portanto, NPV = 0 e apenas se olha o NPV (N, ) dos projetos. No caso com restrição de orçamento, considera como se tivesse um capital de 60000 reais, considerar o Índice de Valor Presente ponderando-se os VPI’s ((NPV (N, ) + I) / I) pela relação entre o investimento no projeto em questão e o orçamento total, sendo que o excedente aplicado no mercado de capitais tem PVI = 1, como feito em sala.
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c) Assuming constant scale replicatio
n’

of different duration. We can compare project
s
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Project NPV(N) PVIFa K[NPV(N, «)] Rank

A 35260 NSL605 904.30 4
B 3,840 3.605 1,065.19 2 o
(¢ 55 200" 55650 920.35 3)
D 657258 52650 1,190.27 1 (best)

Therefore, if the projects are mutually exclusive and can be
replicated at constant scale, project D should be accepted. 1f
the projects are independent, a1l four should be accepted
because all have a positive NPV.
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-10,000 + 14,184 = $4,184.00

n

v =
NPV (B) 1,000 + 2,700 (annuity factor @ 5%, two years)

-1,000 + 2,700(1.859)
= -1,000 + 5,019.30 = $4,019.30
Therefore, project A has the higher NPV.

b) Without capital constraints the appropriate procedure is to
assume constant scale replication.

PV(N, ®) = [NPV/PVIF (N, 1/ k
BV ) = (4,184/3.546)/.05 = 23,598

ation for B yields
/.05 = 43,242

A similar calcul:

PV(2, ®) = (A,019.3/1.859)

Clearly, project B is preferable.

1ies that any money 1ot
512’000 e t the risk-free rate.
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b The optimal solution is to assume that the project o8
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The optimal kegging time occurs when the right- and left-hay
sides are equal.

-kt
th/dt Kl (R: St e sy Difference
1 100,000 -53,844 153,844
2 50,000 11,178 38,822
T CHATE 24,779 8,554
835 28,571 27,645 926
4 25,000 29,465 ~4,465

The optimal kegging time is approximately 3.58 years.
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a) Assuming that the unbiased expectations hypothesig (as given
by Eq. 3.16) is valid, we can solve the problem by computing

the following ratio:
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Therefore, the implied forward rate for the third year is
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The two-year rate of interest is 36.93%. The average one-year

e (1 3603)°° - 1 = 17.02%.
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a)Since differences in scale earn their cost of capital

SOLUTIONS TO TEXT PROBLEMS--CHAPTER 3

NPV is zero. Thus it is necessary only to calculate th; ;2;1:
of

each project and then assume it is replicated at constap

forever. t scale
b) Step 1: Compute NPV.
NPV = (CFt)PVIFa(N,k) -1
Project NPV
3 20,000(3.274) - 48,000 = 17,480
K 12,000(5.575) - 60,000 = 6,900
L 16,000 (4.833) - 60,000 = 17,328
M 10,000(5.575) - 36,000 = 19,750
Step 2: Assume constant scale replication.
N
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Project Nev @Y [asot1]  NeV(Ne)  Rank
J 17,480 1.9088 33,366 1 (bei:)n
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M 19,750 1.1210 22,139 3
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Therefore, project A has the greatest present value index.
However, in order to find the project which will contrﬂmtet?
most to shareholders' wealth, we must adjust for thefactt%
the projects have different lives. The NPV assuming constal

scale replication is
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sumes that cash outflows and dif-
Je are imvested at the cost of capital so that
XV of those flows will be zero. The IRR approach assumes
tflovs and differences in scale are invested at the

on the project.
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